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@D 6900a, 69m?
® 850ha, 8.5a

® 4a, 40m?

@ 5km?, 500000 m?

@ 780000m?2, 78ha



O 4m = 400cm

@ 70000 cm2 — 7 m?
® 12m?2 = 12000 cm?

@ 480000 cm? = 48 m?
® 630000 cm2 — 63 m2



4. FoIA ol 7V 2 28 ol AU

@ 0.02km? @ 0.2ha ® 2000a

@ 20000 m? ® 2ha



@ 3kg=3000g @ 4t = 4000000 g
@ 5.5t = 55000000 g @ 6t = 6000kg

® 120t = 120000 kg
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( )qtoll dur2 @& A= 13 A2 oL ZARIA] 2L
3700000( ) = 370( )= 3.7 km?

® m?, cm? @ m? a ® m? ha

@ ha, m? ® a, ha
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7.7 £-2000000 g L. 6000000g+5 t

. 4000 kg-+800000 g 2. 12 t-620kg
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